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Show that <k <2+ <3 =1807if line fand m 2. Given that m< | is 130°. Line | & m are parallel,
1rollels but by two transversals. /| find the measure of angle 3.

iine m

1l=¢Y |
B i+ f Lk | ®
{5=-¢2 < 3+4UALT= (R

143 +<|+¢(REI87

Pd Q@O te pd__ @®

Find the measure of angle |, if m<2 is 70°. 2. Find the measure of angle 5, if m<2 is 120°
) ‘ and line | and m are perpendicular.
line |

< \ -:LI/
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|. Solve, then answer the questions beilow. 2. Solve, then answer the questions below.
I

a. 4x-8=6x+3 a. a(—Em—cl)=—3x-!5—2m:
b. How many solutions does this equation b. How many solutions does this equation
have? have?

Jame Daie Pd O0)
I. Solve, then answer the questions below. 2. Solve, then answer the questions below.
0. _3x—ll-Yx = _§(3+ 16x) a. twice a number minus seven is eight greater

4 than three times a number

b. How many solutions does this equation b. How many solutions does this equation
have? have?
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Name:

Math 8

Use the figure for Exercises 1 and 2.

N\ 2 B t

56)78)

I m

1. Which angle pair is a pair of alternate
exterior angles?
—
@ 45 and 26 @45 and Z4
@/.46 and 277 (© Z5and 22

2. Which of the following angles is not
congruent to £3?

W 41 S 26
@ X 8 2013+ |

3. The measures, in degrees, of the three 271
angles of a triangle are given by 2x 4 1,
3x — 3, and 9x. What is the measure of the
smallest angle?

® 13° © 36°
(&) 27° ® nr

4. Which is a possible measure of ZDCA in
the triangle below?

October 05, 2015

Date:

Triangles and Parallel Line Quiz

— |§0
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7. Two transversals intersect two parallel lines
as shown.

25 < (ox;—/
=/

-
lq :'\gg (6x + 1)
6

X =Y a. What is the value of x?

b. What is the measure of ZLMN?

¢. What is the measure of ZKLM?

d. Which two triangles are similar? How
do you know?
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MS8-U2: Notes #5 — Similarity (proportionality) Date:

Example 1: Congruent Figures @ X O\O‘{'l\{ -} k" Sami
——
a. Two triangles that are congruent have 3 Ca W 0\\ Ow\q\.!S

-

= 3 equal 3TALS
LT =/ k TR = K ~)
/ R_ =/J R_ =JL
/85=/ L ST = L

Therefore: ATRS = A ‘g ~) L
Example 2: Similar Figures
~— a. Two triangles that are similar have ’A Q a\ Woe \ 0N %\.'. S

AND

b. Corresponding sides are ; LA _PVO?O A8 ¥:‘ A

A ABC ~ AXYZ

/c=2/s &
48_sc so0_[0,|
xr vz |lp 202
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Example 3: Finding missing lengths
Given that rectangle EFGH is similar to rectangle WXYZ, find .

oy By 12T

H G l;*‘“‘ ) q ; 3
: 20
Y X o\
{=1

a) In the figure, AFGH ~AKLM . Find LM.
| B: y _ 32 y 20
A 5 htte 2 X

32cm /| 24 cm /|
/ || 4/ |
s Y= 3

)

|
|
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ﬁm Overlapping Similar Triangles

The following figures are similar polygons. Find the unknown lengths.

-

_5(:]::::::_-_‘;__.__‘___:‘ .
50 (90 @ T=
“y
Try It!:
The following figures are similar polygons. Find the unknown lengths. . \.‘“
Y - - == W~ b0
. - — ‘ ] ﬁ
il AN

Example 5: Determining Similarity using Proportions

Tell whether the pair of polygons is similar. Explain why or why not.
... 05 P B )
3 J 3 ,; 5 /" -\‘\ 5 __—’.'J e i = &
1 j L N V o L\ 3 |
M

5 g

© oot similar
blc +he SIS are apd in
Progorhian!
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MBS8-U2: HW #5 — Similarity (proportionality) Date:

#1. A surveyor drew the diagram at the right to find the distance from J to J across the
canyon. AGHI = AKJT . What is the distance JT ?

. JT =M 44
bl siAS are Z

50°-

#2.  Find the missing measures for AXYZ
21
A

#3.  Each pair of figures is similar. Find the length of x.

AQ'Q
N Aﬂ

X
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#4(.; lﬁigfh elsl :n_xglt%a%ymlf‘sfzm h;;e }]%rﬁtlllfB 5 10. The length BC is 7. B[ , \_‘ % l(_
0 o = IO
16 7 . y T

x

[40=Y=
A < > i
X ' A0 =X k
#5. Tell whether the pair of polygons is similar. Explain why or why not.

52
S B
D".%' E M
6 .".‘ I,"I 6 U_;"' \'\-\ 0
., :." \
F \
A 4 C

#6. The following figures are similar polygons. Find the unknown lengths.
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Spiral:

. . x-3 +2
#17. Solve the following proportion: * 5 AxT .

ARY, /¥
l/(x_g): 5’(&-{-\(2_\

1 2V (5
Simplify the following: 4x| ——= | =| =
}B\/mplfye” ’ [3 3] [9]

October 05, 2015

#9.  Kaitlin earns $6.50 for each hour she works. On Friday she worked for 3 hours. She also
worked on Saturday. If she earned a total of $52.00 for the two days of work, how many

hours did she work on Saturday?

10
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